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Sentence Match Quiz for Category: numbers_1 
Mark the sentence that matches each item below. 

1) Veinte galones de base y treinta galones de látex.
- A: Twenty gallons of base and thirty gallons of latex.
- B: The bus arrives in thirty minutes.
- C: I own two dogs.
- D: My little brother is five years old.

2) Dos más dos es igual a dos por dos.
- A: In the United States it's common to leave a 15 to 20 percent tip.
- B: I own two dogs.
- C: Two plus two is the same as two times two.
- D: Twenty gallons of base and thirty gallons of latex.

3) diez niños
- A: ten children
- B: I own two dogs.
- C: Twenty gallons of base and thirty gallons of latex.
- D: Your total is $ 50.00

4) En los Estados Unidos es común dejar una propina de 15 a 20 por ciento de la cuenta.
- A: In the United States it's common to leave a 15 to 20 percent tip.
- B: The girl has 67 apples.
- C: The silk ties cost eight and ten dollars.
- D: Twenty gallons of base and thirty gallons of latex.

5) iete, siete, siete, cinco, cuatro, uno, seis, ocho, nueve.
- A: He is 100 years old.
- B: seven, seven, seven, five, four, one, six, eight, nine.
- C: Two plus two is the same as two times two.
- D: In the United States it's common to leave a 15 to 20 percent tip.

6) Dos carros por unidad.
- A: Twenty gallons of base and thirty gallons of latex.
- B: I need fifteen more seconds.
- C: Two cars per unit.
- D: The silk ties cost eight and ten dollars.

7) La niña tiene sólo tres plumas.
- A: The girl has only three pens.
- B: In the United States it's common to leave a 15 to 20 percent tip.
- C: The fee for to send the money is $20.
- D: I own two dogs.

8) El niño tiene treinta centavos.
- A: Berlin has 3,391,935 inhabitants.
- B: The child has thirty cents.
- C: Your total is $ 50.00
- D: One zero zero zero zero zero three five four one five one.

9) Su total es cincuenta dólares
- A: Your total is $ 50.00
- B: I own two dogs.
- C: Twenty gallons of base and thirty gallons of latex.
- D: Today is May 23, 1987
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(continued) Sentence Match Quiz for Category: numbers_1 
Mark the sentence that matches each item below. 

10) Yo tengo dos perros.
- A: I own two dogs.
- B: Berlin has 3,391,935 inhabitants.
- C: Twenty gallons of base and thirty gallons of latex.
- D: Two plus two is the same as two times two.

11) La niña tiene sesenta y siete manzanas.
- A: In the United States it's common to leave a 15 to 20 percent tip.
- B: The girl has 67 apples.
- C: Twenty gallons of base and thirty gallons of latex.
- D: Your total is $ 50.00

12) Veinte litros de gasolina sin plomo, por favor.
- A: Twenty gallons of base and thirty gallons of latex.
- B: Two plus two is the same as two times two.
- C: Twenty liters of unleaded gasoline, please.
- D: The child has thirty cents.

13) Uno de cada ocho niños está enfermo.
- A: One in eight children is sick.
- B: Twenty gallons of base and thirty gallons of latex.
- C: The bus arrives in thirty minutes.
- D: He is 100 years old.

14) La comisión por enviar el dinero es de veinte dólares.
- A: The girl has only three pens.
- B: ten children
- C: I own two dogs.
- D: The fee for to send the money is $20.

15) Las corbatas de seda cuestan diez y ocho dólares.
- A: The minimum balance is $20.
- B: The silk ties cost eight and ten dollars.
- C: Twenty liters of unleaded gasoline, please.
- D: Two plus two is the same as two times two.

16) El reporte de crédito cuesta cincuenta dólares.
- A: ten children
- B: The credit report costs $50.
- C: It measures about one hundred fifty meters in length.
- D: I own two dogs.

17) Necesito quince segundos más.
- A: I need fifteen more seconds.
- B: Two cars per unit.
- C: Twenty gallons of base and thirty gallons of latex.
- D: Berlin has 3,391,935 inhabitants.

18) Él tiene cien años.
- A: Two plus two is the same as two times two.
- B: My little brother is five years old.
- C: He is 100 years old.
- D: Twenty gallons of base and thirty gallons of latex.
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(continued) Sentence Match Quiz for Category: numbers_1 
Mark the sentence that matches each item below. 

19) Mi hermanito tiene cinco años.
- A: My little brother is five years old.
- B: The bus arrives in thirty minutes.
- C: He is 100 years old.
- D: The school has 100 students.

20) Hoy es el 23 de mayo de 1987.
- A: Twenty gallons of base and thirty gallons of latex.
- B: Today is May 23, 1987
- C: He is 100 years old.
- D: Two plus two is the same as two times two.

21) Berlín tiene tres millones trecientos noventa y un mil novecientos treinta y cinco habitantes.
- A: Twenty liters of unleaded gasoline, please.
- B: Berlin has 3,391,935 inhabitants.
- C: The girl has only three pens.
- D: In the United States it's common to leave a 15 to 20 percent tip.

22) La escuela tiene cien estudiantes.
- A: The school has 100 students.
- B: The fee for to send the money is $20.
- C: One in eight children is sick.
- D: One zero zero zero zero zero three five four one five one.

23) Tengo veinte minutos de cuidar la maleta.
- A: I have been looking after (caring for) the suitcase for twenty minutes.
- B: Twenty liters of unleaded gasoline, please.
- C: One zero zero zero zero zero three five four one five one.
- D: Two plus two is the same as two times two.

24) El balance mínimo es de veinte dólares.
- A: The minimum balance is $20.
- B: Twenty liters of unleaded gasoline, please.
- C: Two plus two is the same as two times two.
- D: Twenty gallons of base and thirty gallons of latex.

25) Uno cero cero cero cero cero tres cinco cuatro uno cinco uno.
- A: In the United States it's common to leave a 15 to 20 percent tip.
- B: He is 100 years old.
- C: One zero zero zero zero zero three five four one five one.
- D: I need fifteen more seconds.

26) tres amigos
- A: three friends
- B: One in eight children is sick.
- C: Twenty gallons of base and thirty gallons of latex.
- D: Two cars per unit.

27) Dos mil ciento cincuenta pesetas por noche, desayuno incluido.
- A: The girl has 67 apples.
- B: seven, seven, seven, five, four, one, six, eight, nine.
- C: Two thousand one hundred fifty pesetas per night, breakfast included.
- D: It measures about one hundred fifty meters in length.
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(continued) Sentence Match Quiz for Category: numbers_1 
Mark the sentence that matches each item below. 

28) Cuesta cuarenta dólares.
- A: Twenty gallons of base and thirty gallons of latex.
- B: It costs forty dollars.
- C: The bus arrives in thirty minutes.
- D: Two plus two is the same as two times two.

29) Mide cerca de unos ciento cincuenta metros de longitud.
- A: It measures about one hundred fifty meters in length.
- B: In the United States it's common to leave a 15 to 20 percent tip.
- C: Twenty gallons of base and thirty gallons of latex.
- D: Two plus two is the same as two times two.

30) El autobús llega en treinta minutos.
- A: I own two dogs.
- B: Today is May 23, 1987
- C: The bus arrives in thirty minutes.
- D: Two plus two is the same as two times two.

31) La mensualidad es de seiscientos dólares por un dormitorio.
- A: My little brother is five years old.
- B: In the United States it's common to leave a 15 to 20 percent tip.
- C: The monthly payment is $600 for one bedroom.
- D: Today is May 23, 1987

32) La motocicleta cuesta mil doscientos treinta y cinco dólares.
- A: The motorcycle costs $1,235.
- B: In the United States it's common to leave a 15 to 20 percent tip.
- C: Twenty liters of unleaded gasoline, please.
- D: The minimum balance is $20.
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Answer Key for Worksheet 716d6

Sentence Match Quiz starting on page 1
1 = A , 2 = C , 3 = A , 4 = A , 5 = B , 6 = C , 7 = A , 8 = B , 9 = A , 10 = A , 11 = B , 12 = C , 13 = A , 14 = D , 15 = B , 16 = B ,
17 = A , 18 = C , 19 = A , 20 = B , 21 = B , 22 = A , 23 = A , 24 = A , 25 = C , 26 = A , 27 = C , 28 = B , 29 = A , 30 = C , 31 =
C , 32 = A


